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Note: This paper is of seventy (70) marks divided into two (02) sections A, and B. Attempt the
questions contained in these sections according to the detailed instructions given therein.

Section - A
(Long Answer Type Questions)

Note: Section 'A' contains five (05) long-answer-type questions of fifteen (15) marks each. Attempt
any three questions. (3x15=45)

1. Write an article on your vision of future India.

2. Read the passage given below and answer the question that follow : (6X2.5=15 mark)
Cataract is the major cause of blindness, which is also caused by damage to the cornea. It
occurs more often in old age. As one starts growing old, the lens of the eye hardens, loses its
transparency and becomes opaque. It obstructs the light rays from entering the eye.

The onset of cataract blurs the vision. Sometimes, the cataract patient sees multiple
images instead of single object image. Because of the gradual development of cataract, the
afflicted person loses his/her vision and the world becomes dark.

The development of cataract is a complex process. However, the following factors can
be attributed to its formation. Cataract generally develops in odd age but sometimes, children
are born with cataract because of hereditary defect. Eye injuries too, can cause cataract.

People exposed to sum rays for longer periods develop cataract earlier them others.
Researchers opine that the smoke inhaled while smoking carries substances internally
damaging the eyes. Ultraviolet radiation, invisible to the human eye, is linked to skin cancer.
The victim loses vision and the would becomes dark.

Answer the following questions :
Why does the lens of the eye becomes opaque in odd age. (2.5 marks)
What is the major cause of blindness? (2.5 marks)
How does one detect cataract in early stages? (2.5 marks)
How does cataract affect its victim ultimately? (2.5 marks)
Give any 2 factors which are responsible for the foundation of cataract. (2.5 marks)
Find the word in Para 1 that means ‘That through which light can’t enter’. (2.5 marks)
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3. How does Emerson describe ‘Brahma’?
4. What type of man was the father in “Night of the scorpion’? How did he treat his wife?
5. Explain the argument in ‘The Coffee House of Surat’.
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Section - B
(Short Answer Type Questions)

Note: Section 'B' contains Seven (07) short-answer-type questions of five (05) marks each.
Attempt any five (05) questions. (5x5=25)

6. Comment on the title of Premchand’s Sadgati’.
7. Write the central idea of the poem ‘Brahma’.

8. Design a poster advising people not to take alcoholic drinks, illustrating the danger of

consuming alcohol.

9. Combine the following pairs of sentences. (5X1=05)
i. Itisveryhot. I can’t go out. (1 mark).

ii. It may rain. We will get wet. (1mark).
ili.  They are pretty. They are intelligent. (1 mark).

iv.  Mr. Shyam is a doctor. His wife is a doctor. (1 mark).
v. Ironis found in India. Coal is found in India. (1 mark).

10.How was the mother bitten by the scorpion?

11.Translate the following passage into English —
o1 Fg @ g a9t Fg A 2 | FATS AR I B A9 H 9uf &1 FR &ar 2| auf

Fg A AT W Flell T & GHI BI3 Edl 2| 41 Tel AR drelld €6 I+ 9 R 91 2 |
ur gl &rar @, w gE 9 @ A1 Seu g el | g & 99 usd odl 2

39 Aad A ST ¥ WS @ Wrar 21 uel gueT 8 ey W Hewd ¥ | difddr I
Il 21 Aed oxid © | Wi, feg, de—dle M a1 G A R fpa A & | At
P ARl 2 | H98R WA 2 | HelRAT SO} UG 39 3qd faaRat wer ot 2 |

12.State clause used in the following sentences is an adjective, adverb or noun clause. (5X1=05)
i.  What he told me was a lie (1 mark).

ii. My friend helped me when I was in trouble. (1 mark).
iii.  This is the girl who won the prize. (1 mark).

iv.  Everybody admits that she is a brave woman. (1 mark).
v.  We know that he was guilty. (1 mark).
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